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Find the lateral surface area and total surface area of each solid. Show work!
2. Square pyramid

1. Right regular hexagonal prism.
Base edge = 48 and lateral edge = 26.
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3. Right triangular prism:— 4. Rectangular pyramid
* Does hot have arg%u,(,ar
base <o uéou Can Onl.,&
Use option # |
Aéﬂsc =_b’k N P
—12 o gﬁ ' 3
el =12 = 30-10
6 10 @ A peaces =2 Asracer =
77 N o e B
= LsA = 2(102) +2(150) v 12
% = 20 +300
Base [ LsA=504 uz] 30
A A = LSA YApgase
LT?Ph‘onl *ophon 2 Tep =LSA+ 2 Agace = e =504 + 300
AQ, =le-10=led Lsa=p-h =4go + 2(4¢) ool u?]
A-nz =(2-10 =120 2(12+1b+20) 10 ZHeo +192 | TeA™ BbTu”
A s = 20 10 >30D = (48)10 [a=0t2.2 |
03 =20-10 [TeA = €0 w=)

[Lsa = 4go u?l
5. What is the difference between a prism and a pyramid?
A prism Is a 3-D svlid that has & =,/ bases with reo{"“"(j“'l“’ faces.

colid +hat has | base with ‘meA@u,bub faces.

A P”ramid ls a 3-P



6. Sphere with radius = 12.

7. Cone. Radius = 6, altitude = 6
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8. Cylinder. Diameter = 14, height = 5.

9. Complete the analogy:
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Cylinder is to prism as cone is to
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10. Find the total surface area of the combined shapes. (#int: Do not include any faces that would be inside the shape.)

a) Square pyramid on top of cube

b) Hemisphere on top of cone
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